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The 3-m wall shown here stands 8 m from the building. Find the length of the shortest straight beam that will reach to the side of
the building from the ground outside the wall.
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Ex:  For each initial approximation, determine graphically what
happens if Newton’s method is used for the function whose
graph is shown.

(a) x;, =0 (b) x;, =1 c) x,=3
(d) x, =4 (e) xy =15
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How many solutions does the equation sin 2x=0.22 - 2:(2 have? Use Newton's method to find them.
e ~——

(L) The equation Eﬂsﬂuﬁm(&). (Type a whole number.)\) p (x) = S:M_A —0.22—4- Z‘*L

) e I\ \3
L) The solution(s) is/are x = I:l -“l*) = 2¢o0s2 w + Q&
(Use a comma to separate answers as needed. Type an integer or decimal rounded to five decimal places as needed.)
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The graph below shows solution curves of the differential equation %! =1- % /3 Find an equation for the curve

that passes through the labeled point. \b
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